EAST POINT SCHOOL

CLASS-VII
ONLINE CLASSES WORK PLAN (OCTOBER WEEK-2)

ENGLISH

The Narayanpur Incident
By Shashi Deshpande

Video Link: https://www.youtube.com/watch?v=0N8VtLvXPTU

Learning Objective:

1. The students will be a able to gather knowledge of the real heroes
2. Vocabulary enhancement

Introduction:

Published in 1982, The Narayanpur Incident is Shashi Deshpande’s fourth novel for children. It
has been variously established that Deshpande deals with a variety of issues even in her books for
children including the didactic principle (not the conventional one) which is supposed to be a
significant constituent of any children’s book. This paper intends to analyze the underlying
ideology in The Narayanpur Incident. Just like her other novel 3 Novels, it caters to the need of
the society at large by offering a story that carries a moral. That children need a moralistic tale to
evolve into virtuous adults is fairly established as one of the aims that books for children thrive to
attain.

Synopsis:

The story is about ordinary citizens in a small town/village called Narayanpur performing
extraordinary things during the Quit India movement call from Mahatma Gandhi. Mohan, Babu
and Manju are youngsters who are caught up in the struggle for independence as their father gets
arrested during a speech in a marketplace. Mohan, the oldest of the three kids goes underground
to carry on the freedom struggle. The mother (mostly referred to as Amma) and the remaining
children Babu and Manju are forced by circumstances to move over to Narayanpur and stay with
a strict but benevolent friend of Amma's father, Annu-kaka.

Narayanpur, an otherwise sleepy town/village, erupts into action when the fervor of the Quit
India movement slowly seeps in to engage its residents. The strong arm tactics of the police,
especially the incident when small children are brutally beaten up and a little girl dies in a
stampede, catalyzes the entire community to rise up and protest against the British occupation.

Questions and Answers



Q-1) The setting of the Narayanpur incident is

Q-2) Narayanpur is seething within and it all comes to a
head

Q-3) The cyclostyling machine had to be smuggled into the house
because :

Q-4) In the story, Amma and her children, Mohan, Babu, Manju, aged 18,13,11 respectively, are
acutely aware of their role and duty towards their nation. Do you agree/disagree? Give reasons.

Q-5) A police officer was seen talking to the student leaders. Can you guess what the officer had
been talking to them?

Q-6) Babu and Manju were a bit disappointed with the way the students were marching. What
was the reason?

Q-7) Prepare a graphic organizer of the chapter

highlighting setting, where, when, major characters, minor
characters, Plot/ Problem, Event-1,Event-2, Event-3 and

ending.

L
=
o

WA &

VIDEQOS LINKS :https://www.youtube.com/watch?v=jclcWpVCwNU

https://www.youtube.com/watch?v=TEhm-c4fyYq

3rferare -

fagardt e St & ey 7 ST T


https://www.youtube.com/watch?v=jclcWpVCwNU
https://www.youtube.com/watch?v=TEhm-c4fyYg

ezt Shaer i weas &1 arer g3

TEIH ST, HITel HATC 37eheR & ATHA FTel & Ueh HGIA hall | SoAhT I ATH o1d1d Tegdl
TEIH WIeT-5-TTeAT AT| AT 3eha bl THT o AgcaquT latel H § Ueh ¥ Sleg oAa<cet 81 gl
ST UT| TEH 3791 elgt AR SAFAY R for a7 feheiralt & shRoT AT ¢

3eTehl STod 17 feHESR 1556 T ATfehcllel & oITgN # g31T UT| I ST St o 3191 &lel o
HTETH I SToTdT I il TFaedT dTc IcTs 3R 3oTent AT G2 et 3T I fohaT| 3Tent
37erell, T, 3T, BT, Tehi, 31 TG T 3reoT ATt oT| SoTeht Haft i “TEIe Furaeir” 7
SENESES

1. &g @ gufad g FoId agd ag i/
fa9fa- #aidt 5t w48 gif ara #Aau

GHIT:- J61H &TF 5 & &g 3 HIEIH & Tz [AT FH GRS &1 Jarir &/

SITEYT:- YG1H I 51T FE & I3 ST 8HR GIF TGl il & Al 7197 37951 HT9 §HR &1,
Reder 3R AT §a77 &1 9I17 v & cfder gz A7 gt §r gia & o7 fagafa ar fager 3=
gy 3t GHIR GIeT 351 I8 81 da) §HR Tz AT gid & 371 &arer g7 3t 781 sisar aifav)

UseTe:- FHie— FaaTl, Tl - &7, Fa— ROAGR (3979, §odd— Jaict &, T — FHIPT, faafa
— HHC ($135713), HHICT 5 FH— G HHT H 5T Grr H, 35— @ &, A a=d, Hea - A7
(3791 /|

|2. SITer QR STeT STIT T18, dfor Hieter &1 #Hlg/
MHT HSN AN F TF 7 Sisla s IR/

GHIT:- 3 Gle H I61H & Sl o 5Te7 & G Hesofl 3 Uh AT 97 &1 &orar &


https://www.1hindi.com/mughal-empire-family-tree-timeline-map-in-hindi/
https://en.wikipedia.org/wiki/Abdul_Rahim_Khan-I-Khana

SITETT:- J61H T ST Fad & 3 T HSoll Ghsat @ 61T STeT H 16T STell ST & dl 7ol Tga
FIgN [Aher TIAT 81 38 HSell & Tfa 39T Hig 19T 8T & dlfbed Heson T 9H 7ol & giad
ST 3T8% giar & 13 a 5ier & 3eraT g1 & 379a3 9107 &1 8t & Tg Fear 97 &/

USGTe- W — G571 GN, SHel— Gled), Sl ST, dle — dgadl, Aol — S5, Haded — HSIe1Tl, Hlg
— SN, SR — HBeAl. FAN— STeT, dF— dT HT, T 781, Bisld— S5, Big- 97 (TN /|

3. @AY Bel dle @I 8 &Xav g 7 g/

Fie TEH WHIT fod, Fla-ale Gt 1311

JHT:- TEIH GTH 1 71 5 Gl A HooF #H GI0 5ilet dlet RIGHIR 31 HTd &1 G [T & 37eref
GERT b1 o738 YT/

SITEIT:- TE1H G 5l FEc & 13 [GTF G J&T 3791 Tol 31 78] @I FRIGR 391 GaRT
I 13T 137 STeT 3T g1 el FH JhR Hotd HN [3GarT #19T 39+ GaRT HIE [0 17
€57 T 3GV 31951 [e1v 8T e Gol &1 $7ells H #X &1

oIsaTef:- TE - 8, AR~ g, @I - Gl TG — TR (AT, I — A, 917 - G,
PIe— FEA, WHIT— G} 3 [T F1H, focT - HeTTs, TFII— €7 (G)elc), Tafe — FTE

(), GoileT — Hooled) 3Tedl

4. qIe G FAR &, T 1A TEXIA/
&7 GOy foeler 37, &3 QIS 1T 11411

FHT:- HHGTH 1 §H &R @ HTETH & il Flgct § 13 HFT el glet @ &re 4t garat fa=it
& 00ad I §icd #X W &1

EJTEAT:- JE1H GTH 51t FEct 8 13 51 G 311oaeT & Helet H 57l §igel 31t & al Ue gid 813d
FTeT IRAA & Sfhe GRED 78 ¢ I T e} G [7eled gled 7 379 §& H 1970 §U et



B FIct AT TGN & [T TAHTA A Flz AT g] Gl 81 T§ 37 & H 317 §v geil &1
T1G FXA TG & clfaat AT TAHIA Feld A $s GER Tpl #Hct &1

USGTe- 1Y TIEGT, FIGN - &Igel, FAN — 18T ( AT HFCR T Helel), 51 51,
EFERIT — T5iaT, €/l — ElAalet, eeled - RIS, 370 81 5Tt &, IfSell — fAaell (JRIA) |

5. el #r- &t i &, da a7 il Agl
sid ¥ &t afe @, 9 @ TE AR 1611
JHT:- SH &l H TEIH G ST 7 HoyF & ARV &1 Joradl ERedl & 61 &1

SITEYT:- YGI1H I 511 PEA & 1@ [T GHR §HRT ERcAl dal, TTH, SRAIT & HIGH Hl T
THIT T & Se7 St &1 35 GhR §HR SR 7 3 38 & &7HT gl Tifav g7 Hdet H 31t
arel GRAAA IR G- 58 &l Heol & & FAhR FX T

uegre:- Ot 37T, Hir al (33), &1 - &9, 3k 3R, He- FIReI, 8- g5=71, TF FRT, Hle-
Heol, 71 - 34, a5 RN

92 1: UTs H U 310 Sigl T IS giFd U g 31X IS U I TATTOIT hlaidTell 36180T|
SoT Glell Th R ahl GTFr T sl TgdTeT oY 3TeldT-37e1dT Tl Tl T |

T G I T H Th FIA 6

1. @ Fufa @91, e ag 7g |

fufa Faldr s F4, a g AT

X I H ST STTF §ART Feg, Y, TeT §ART 3 el AT I &l

2. STl UR STl ST &fe, dATor Histel I A1 |

WFaT A A F, aF T sef@ w21

AS T UTeAT & TAT 9H hldT &, SUT Io1g A a STol T 19T 21 & 37911 R AT ST &
T Q¢ FY=T I TATOT I aTel IGTEI0T &-

1. A%aX el Ifg @I §, GIGX I o greT |



Fig Wt T fea, wafa-wafe garri 1311

5T oRE 93 319 el T G W, FET-ATeTS 39T STel Tg oTg! didt, 38T T Hooled
HIST 3191 TAIT e oTEl SISl | At 38 &eT & g@Ri oh1 faeare) o7err Xt &

2. 9 1 FIR &, AT WIH Fgd|

et gy fareier sro, Y el arai 1411

A TR T ST & d1e oY dT) Sl Shd ol IRSTT 2, ST o781 | 3 &Y, e &l STed
S1E T 3N o197, T IR & feaT &l o1l el ol 8, St 319 I &

3. et Y- T 8, e ar 31t A

oY oX | afy @, A WA T8 8711511

T g TRl 8T e o FIFH T TgA Y ol g, THT e §ART N 31 JE-g@-gefy &
g AlGH & T T AT &7 T I8 T g |

9T 2: T A FIR & ATH H IS aTel d1eell Y Jore1 1A ey safFaat @ wat firg st
gga FfY et & 3 i aral i FaTR gERl FY TN e ared €7 2  HTUR W I
T & T 30 IRereare argal & fwr F & Fger =agar?

agﬁwd’rma’m

(&) WA & &g T HET JATT &
(i) $2aX FT #lFT

OEIGEIEIG

(iii) TRAT T FOTA

(iv) SHTAGIY T &t

(@) “FUTd T H hq 3R T TIN9T 37T &2
(i) 2o

(ii) 3regome

(iii) GoTofebeT



(iv) THF

(3T) T HYT Tohe gl IAT &2

(i) Ta9TT T FEIET I W SAR=Aarern
(ii) T dreleidreln

(iii) GITT g5Y=raTel

MGGEEIGH

(81 STl USo1 U GTeil 21 dg oIl 872
(i) 31T ST & forw

(ii) FASTrT &1 G1Y AT & forw

(ifi) FASTrAT & T F=11et o folT

(iv) AT & TTdT 9H o ¥l o o

(3) FAT ST AS T A UH HLT &2
(i) &

(ii) =TET

(iii) IdT =T8T

(iv) 318 Q IS T

() U3 39T el T FAT AGT W & |
(i) T 3 el TdiE T8 &

(ii) T I8 Wil 78T Tred

(iii) Fifh d WIIPRT 8l & |

(iv) Fifer I Bel T8T W |

(&) ool U FIT STAT I 672
(i) go19 & forw|

(ii) gTaTeT Sotel & foIT

(iii) GERT 1 Agg & foT



(iv) 3T9=T dTel-gal o folT
Irfrerg 30T I

(o) ST & farat & 31fRieharr e gici &7

(T@) “STeT I ASTAT A IS W TET BIAT SThT FAT FHTOT &2
(31) HooteT 3R Tagare o Ul G T AT 3652 8T 872
(&) TEHT & FAR AT & TG el Sl HaT ST 82

() J&T 3 T Tohd T G@HT T $TeTTS &l o7

3eR- &T 3R A 3791 GART AT TE] T FaT IUANT FAGT L o, Alell G&T THET ol
3ceo] T ¢ WAool Ig TIY 3T 3UANT 76T HAT| T Hel GERT o 10T &l & | ST ST
JohR TG AT 37T STl T oF YTt 3 TATST T TS o folv Ao Har |

(@) TEH AT T R § T WG ST A8 el 82

(31) TEH o FAR & STeell T Jolell fhad 3R T T g2
(&) WA & 1l A gH a1 diE [Aerdr g7

et aifafafer

A g7 3R AN A AT TAET ITGVT el ART?



MATHS

CHAPTER- SIMPLE EQUATIONS)

OBJECTIVES:

1.Students will be able to write the equations into statement form.

2.Students will be able to solve the equation given in the statement form.

3.Students will be able to apply the simple equations into practical situations.

Variable

Variable is an unknown number which could have a different numerical value. It is
called Variable as it can vary.

It is represented by different letters like X, y, a, b etc.

Equation
An equation is a condition on a variable. It says that two expressions are equal.

coefficient wvariable constant
~ / v N
x + 7 - \/5
. J | )
- r
expression expression
| |
TI
equation

Terms: 5x, 7,2

Important Points Related to the Equation
One of the expressions must have a variable.

LHS of the equation is equal to the RHS of the equation.

An expression does not have equality sign but an equation always has an
equality sign.

If we interchange the position of the expression from LHS to RHS or vice versa,
the equation remains the same.

S5x+7=2
2=5x+7
Both the above equations are same.

How to form equations using statements?
1. The sum of four times of x and 12 is equal to 35.

4x +12 =35




2. Half of a number is 3 more than 8.

e 8—3
¥ T8

Balanced Equation
When the LHS = RHS of an equation, then it is said to be a balanced equation.

e |If we add , subtract , multiply or divide the same number to both the sides.
Then the equation will remain the same.

Solution of an Equation
Any value of the variable which satisfies the equation is the solution of the equation.

There are two methods to solve an equation

Method:1 By adding or subtracting the same number to both the sides of the
equation as we have above seen that the equation will remain the same.
Example: 1

Xx+11=35

Solution:

Subtract 11 from both the sides.
Xx+11-11=35-11

X=24

Here, x = 24 is the solution of the given equation.

Example: 2
25y = 125



Solution:
Divide both the sides by 25.

25y _ 125
25 25
y=5

Method:2 Transposing Method

In this method, we transpose the numbers from one side of the equation to the other side
so that all the terms with variable come on one side and all the constants come on
another side.

While transposing the numbers the sign of the terms will get changed. i.e. Negative will
become positive and positive will become negative.

Example

X+11=35

Solution

Now we will transfer 11 from LHS to RHS and its sign will get reversed.
x=35-11

X=24

Applications of Simple Equations to Practical Situations
Example: 1

Radha’s Mother’s age is 5 years more than three times Shikha’s age. Find Shikha’s age,
if her mother is 44 years old.

Solution:
Let Shikha’s age =y years

Her mother’s age is 3y + 5 which is 44.

Hence, the equation for Shikha’s age is 3y + 5 =44
3y+5 =44

3y =44 -5 (by transposing 5)

3y =39

y = 13 (by dividing both sides by 3)

Hence, Shikha’s age = 13 years

Kindly go through the below link to solve the given worksheet



https://www.bing.com/videos/search?q=VIDEOS+ON+CHAPTER-
4+SIMPLE+EQUATIONS+CLASS-
VII&&view=detail&mid=2941ABEEF7F2FO0F1F8B82941 ABEEF7F2FOF1F8B8&&FO

RM=VRDGAR

WORKSHEET.

Q1. Write the following statements in the form of equations.
(a) The sum of four times a number and 5 gives a number five times of it.
(b) One-fourth of a number is 2 more than 5.

Q2.Convert the following equations in statement form:
(a) 5x =20
(b)3y+7=1

Q3. If k + 7 =10, find the value of 9k — 50.

Q4. Solve the following equations and check the answers.

5z +1 Sx
(a) 3 =7 {b}g+3—x+?’

Q5. Solve the following equations:
y-2)=2(y-1)-3

Q6. If 5 is added to twice a number, the result is 29. Find the number.
Q7. The length of a rectangle is twice its breadth. If its perimeter is 60 cm, find the
length and the breadth of the rectangle.

Q8.The present age of a son is half the present age of his father. Ten years ago, the
father was thrice as old as his son. What are their present age?
Q9.The sum of three consecutive multiples of 2 is 18. Find the numbers.

Q10. Each of the 2 equal sides of an isosceles triangle is twice as large as the third side.
If the perimeter of the triangle is 30 cm, find the length of each side of the triangle.
[NCERT Exemplar]

MULTIPLE CHOICE QUESTIONS

1.Write the following statement in the form of an equation:
If you subtract 3 from 6 times a number, you get 9
(a)3x-6=9

(b)6x—-3=9
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(C)6x+3=9
(d)3x+6=09

2. Write the following statement in the form of an equation:
Taking away 5 from x gives 10

(@ x-5=10

(b) x+5=10

(c)x-10-5

(d) none of these

3.The solution of the equationx —6=11s
()1

(b) 6

()7

(b) 7

4.Find the value of an unknown variable.

When | subtracted 11 from twice a number, the result was 15.

(a)13

(b) 6

(c)-7

(b) 7

5. Raju’s father’s age is 5 years more than three times Raju’s age.Find Raju’s age, if his
father is 44 years old.

(@) 13
(b) 9
(c) 7
(b) 5

6.Solve the equation4+5(p—-1)=34
(a) 4

(b) 16

(c) 17

(b) 7

7.S0lve the equation 2m+18 = 28

(@) 3
(b)19



(c) 7
(b) 5

8.Write the equation for the following statement
If you add 3 to one third of z, you get 30.

(a)1/3 z+3=3

(b) 3z +3 =30
(c)1/3+3=30
(d)z+6=30
9. The solution of the equation 7n +5 =12 s
(a) 0
(b) -1
()1
(d)5

10. The solution of the equation 0 =4+ 4(m + 1) is
(@)1

(b) -1

(c) 2

(d)-2



SCIENCE
PHYSICAL AND CHEMICAL CHANGE
https://www.youtube.com/watch?v=BpBLWhlrZ54

Topic- Rusting of iron, galvanization and crystallisation

Learning Objectives — At the end of the topic students will be able to identify these
processes around them as chemical changes.

Rusting of lIron

When an iron object is left exposed to moist air, it chemically reacts with oxygen and
water in the air to form a red-brown flaky substance called rust. The process of rusting can
be represented by the following equation:

Iron (Fe) + Oxygen (O.) (From air) + Water (H20) — Rust (Iron oxide, Fe20s)
Rusting occurs in the presence of both oxygen and water. The more humid the air, the
faster the rusting occurs. The rust slowly eats away or corrodes the iron, leading to
considerable loss. Since iron is used in making bridges, ships, * cars, truck bodies and
many other articles, the monetary loss due to the rusting is huge.

Preventions of Rusting

Rusting can be prevented by not allowing the iron to come in contact with moisture and
air. The simplest method is to coat the iron with oil, grease or paint. These coats should be
applied regularly to prevent rusting.

A more efficient method is to coat the iron with another metal such as zinc or chromium.
The process of depositing a layer of zinc on iron is called galvanisation. The iron pipes
we use in our homes to carry water are galvanised to prevent rusting.

Rusting of ships is a major problem in the shipping industry as the body of a ship is always
in contact with water and the air around it is also very humid. The salt in water speeds up
the process of rusting. This leads to huge monetary loss to the shipping industry. Rusting
of iron can be prevented by allowing it to make stainless steel. Stainless steel is made by
mixing iron with carbon and metals like chromium, nickel and manganese. It does not rust.

Crystallisation

Seawater contains salts dissolved in it which makes it salty. We have learnt in Class VI
that salt can be obtained from seawater by the process of evaporation. The salt obtained in
this manner is not pure and its crystals are small. The shape of the crystals cannot be seen
clearly. Large crystals of pure substances can, however, be obtained from their solutions
by the process of crystallisation. It is an example of a physical change. The process of
cooling a hot concentrated solution of a substance to obtain crystals is called
crystallisation. The process of crystallisation is used to obtain crystals of a pure solid
substance from the impure solid substance.


https://www.youtube.com/watch?v=BpBLWhIrZ54

Activity — Students will display some rusted objects and some galvanised objects . They
will explain the reasons of rusting and also why objects are galvanised .

Think and Answer -
1) Why objects made of steel do not get rusted?
2) List any five objects you see around are protected getting rusted. State the method

used for prevention.
3) How crystallization method ensures the purity of any substance?

4) State the disadvantages of rusting.
5) Define crystallization and galvanization.

SOCIAL
STUDIES

The Mughal Empire
Video Link : - https://www.youtube.com/watch?v=7fr7k7HOrgA

Objectives

« trace the political history of the 16th and 17th centuries
« understand the impact of an imperial administration at the local and regional levels
« illustrate how the Akbarnama and the Ain-i-Akbari are used to reconstruct history

Relations with Other Rulers

Many Indian rulers started accepting Mughal supremacy, and the Mughals campaigned
and fought against rulers who did not obey them.

The Rajputs married their daughters into Mughal families to get high positions in the
Mughal Empire.

The Sisiodiya Rajputs did not accept Mughal supremacy for a long time, but after they
were defeated they were honourably given their land back and made vassals of the Mughal

Empire.


https://www.youtube.com/watch?v=7fr7k7H0rqA

This balance, where the Mughals defeated but did not humiliate the enemy helped
them extend their rule over many parts of India.

Mansabdars and Jagirdars

The Mughals enrolled people of all races and religions into government jobs, and

they were known as mansabdars.

Mansabdar means a man with a mansab (a position or rank), and mansabdari was

a grading system to decide the rank, salary and military responsibilities of government
officials.

The rank and salary of a mansabdar were fixed according to a numerical value called zat.
So the higher the zat of a mansabdar is, the higher is his position in the court.
Mansabdars received specific numbers of sawars or cavalry men who were registered by
the government, branded horses, and salaries for the sawars.

Mansabdars received salaries as revenue assignments called jagirs. And unlike

mugtis, all mansabdars did not reside in their own jagirs but used servants to collect
revenues there while they themselves served in another part of the empire.

During Akbar's rule, a mansabdar’s salary was roughly equal to the revenue the Mughal
Empire got from his jagir.

But this changed during Aurangzeb. As the number of mansabdars increased and

the number of jagirs decreased, there was more land revenue.

Zabt and Zamindars

The main source of income of the Mughal Empire was tax on farm produce, and peasants
paid taxes to headmen or local chieftains.

The Mughals called all middle-men zamindars (landlords), and assigned to them the

task of collecting taxes.

Akbar's revenue minister Todar Mal carried out a survey of crop yields, prices, and areas
cultivated for a 10-year period, and then fixed taxes on each crop.

Each province was divided into revenue circles with its own rates of revenue for

each crop and this revenue system was known as zabt. And it

was prevalent in areas where Mughals could survey the land and keep regular accounts.
The Mughal administrators exploited the peasants, and this started revolts which picked
up speed later, in the end of the 17th century.

Akbar's Policies



Akbar's courtier Abul Fazl wrote two books on Akbar and his administration: The Akbar
Nama and the Ain-i-Akbari.

In these books, he describes that the empire was divided into subas governed by

a subadar who carried out military and administrative functions.

Each province had a diwan (financial officer), bakshis (military paymasters), sadr (minister
for religion and charity), faujdars (military commanders), and kotwals (town policemen).

In 1570, Akbar started religious discussions in the ibadat khana at Fatehpur Sikri where he
invited ulama (learned religious men) such as Brahmans, Catholic priests, Zoroastrian
priests, etc.

Akbar's interaction with different faiths made him realise that religious

scholars who emphasise rituals and dogmas are bigots.

This eventually led to his idea of sulh-i-kul or universal peace and tolerance towards all
religions.

Mughals in The 17th Century

Mansabdars gained a lot of power and became highly corrupt under the rule of the later
Mughal Kings.

The Mughals and their mansabdars spent a lot on

salaries and goods which benefited the artisans and peasantry, but the large scale of
revenue collection left very little for the artisans and peasantry in terms of savings.

As the Mughal power declined, their servants slowly emerged as centres of

power and money.

They created new provinces such as Hyderabad and Awadh, but in theory they still
considered the king in Delhi as their master and emperor.

WORKSHEET -2

1. Match the following:

mansab — Marwar
Mongol — governor
Sisodiya Rajput — Uzbeg
Rathor Rajput — Mewar
Nur Jahan — rank
subadar — Jahangir

2. Fill in the blanks:

1. The capital of Mirza Hakim, Akbar’s half-bro: her, was .....................

2. The five Deccan Sultanate were Berar, Khandesh, Ahmadnagar,

3. If zat determined a mansabdar’s rank and salary, sewer indicated his...........................

4. Abul Faze, Akbar’s friend and counsellor, helped him frame the idea of ............. so that
he could govern a society composed of many religions, cultures, and castes.



Answer the following questions: -

1) What were the central provinces under the control of the Mughals?

2) What were the relationships between the mansabdar and the jagir?

3) What was the role of the zamindar in Mughal administration?

4) How were the debates with religious scholars important in the formation of Akbar’s
ideas on governance?

5) Why did the Mughals emphasise their Timurid and not their Mongol descent?

6) Who were mansabdars? What were their responsibilities?

7) Describe Akbar’s administrative policies in details.

8) Explain Todar Mal’s revenue system- zabt.

ACTIVITY: - Make a detailed research about the administrative policies of Akbar.
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